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A particle of rest mass m, has a speed v=o08c. In

terms of m, and c, what is the total energy. kinetic

(20%)

1.

energy and momentum of this particte?

Compton—scattered pholons of wavelength A are observed
what is the scattered wavelength

(20% )

at 90°. In terms of A,
ohserved at 180° ?

the wavelength of the

[n Bohr's model of atom,

3.
transition from », =4 to », =2 is A. In terms of A, whai
is the wavelength of the iransition from n, =b to n, =2 7

(20%)

4. Sketch the wave [funclion of a particle of energy E
encountering a step of height V, for the cases:(a) C>V
and (h) E<V. (20%)

5. Explain (a) normal Zceman cffcct. (b) periodic table.

(20%)



